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Directions: Determine whether the italicized term makes each statement true or false. If the statement is true,
write true in the blank. If the statement is false, write in the blank the term that makes the statement true.



1.
Particles that make up matter are in constant motion.



2.
The faster particles move the less kinetic energy they have.



3.
Temperature is the measure of the average kinetic energy of the
particles in an object.



4.
When temperature increases, the average kinetic energy of the particles
decreases.



5.
The thermal energy of an object is the total energy of the particles in
a material.



6.
A thermometer is used to measure the specific heat of a material.



7.
Thermal energy flows from a higher temperature to a lower
temperature.



8.
Heat is measured in newtons.



9.
The same amount of different materials need the same amount of
heat to have the same change in temperature.



10.
The amount of energy it takes to raise the temperature of 1 kg of a
material 1 kelvin is the specific heat of the material.



11.
Water has a relatively low specific heat.



12.
Materials with a high specific heat can absorb a lot of energy and
show little change in temperature.
Directions: Answer the following questions about the thermal energy equation.

13.
Change in thermal energy can be calculated using the equation Q = m ( (Tf – Ti) ( C.

a.
In this equation, what does Q represent? 


b.
What does m represent?


c.
What does Tf represent?


d.
What does Ti represent?


e.
What does C represent?

 Use the equation for calculating thermal energy to answer the following questions: 
       Q = m ( (Tf – Ti) ( C.

14. A glass of water has a mass of 15.0kg and a specific heat of 4,200 J/kg x °C. Find the change in thermal energy of the block as it is warmed from 10°C to 20°C. 
15. A bag of sand has a mass of 25.0 kg and a specific heat of 830 J/kg x °C. Find the change in thermal energy of the sand as it is warmed from 18°C to 23°C. 

16. A wooden block is heated from 25°C to 35°C. The specific heat of the wooden block is 1,700 J/kg x °C and the change in thermal energy is 213,000 J. Find the mass of the wooden block. 

17. A piece of graphite with a mass of 0.25kg has a specific heat of 710 J/kg x °C. If the change in thermal energy was measured to be 21,000J find the change in temperature in °C. 
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